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IRT or Rasch – what can and cannot 
be done? 
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35 arthritis patients have been through rehabilitation 
therapy. Their admission to therapy and discharge from 
therapy measures are to be compared. They have been 
rated on the 13 mobility items of the Functional 
Independence Measure (FIMTM). 

Each item has seven levels. 

At admission, the patients could not perform at the higher 
levels. At discharge, all patients had surpassed the lower 
levels (Data courtesy of C.V. Granger & B. Hamilton, 
ADS). 
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Score, x
1 0% Independent
2 25% Independent
3 50% Independent
4 75% Independent
5 Supervision
6 Device
7 Independent
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Molton: “Both statistics … require a lot of meditation and incense.  
For useful explanations, refer to: 
http://www.rasch.org/rmt/rmt162f.htm”. 
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Acquiescence

!"#$$%"" =
'()*

1 + '()*

”Agreement regardless of 
item content∆. = / 0 .; / < 0



2019-06-25

12

Lesliependrill@gmail.com 2019-06-12 PM-Health

Difficult

Easy

D
iff
ic
ul
ty

Physical disability

Lesliependrill@gmail.com 2019-06-12 PM-Health

DifficultEasy

Physical disability



2019-06-25

13

Lesliependrill@gmail.com 2019-06-12 PM-Health
k = 2

Physical disability

Lesliependrill@gmail.com 2019-06-12 PM-Health

Fit residual

!"#$$%"" =
'()*

1 + '()*

- =
.!"#$$%""
./

=
'01 ()*

1 + ' ()* 0
−

' ()*

1 + ' ()*

34,6 = 74,6 − 84,6

Response Sensitivity

9:;<=_?@=A_BC =

2 1
E
F −

E
GHI −

2
3

K

L′6,*
0
= L6 −

.!"#$$%""
./

1 ./
0

= L6
0 − 2 1

.!"#$$%""
./

1 ./ 1 L6 +
.!"#$$%""
./

1 ./
0

Changed
stimulus

F = L6
0 = N

4OP

QRS

34,6
0



2019-06-25

14

Lesliependrill@gmail.com 2019-06-12 PM-Health

Acquiesence, τ < 0
Importance
rescaling, τ > 0
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NeuroMET: Innovative measurements for 
improved diagnosis and management of 
neurodegenerative diseases 
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